F & X

S=1: 250

. EIREE L=24.4n

° 630.02 \
T=EAERKL=23. 0m

® 628.77

—
. . : Gzﬁfjrlﬁi/;:z&#ﬁ«}l;l 6269
. . 5624,\39&,Q\/ R . -
L O Coo0E0COTOO_
. \ ’ - _— rrrrcreoed
640. 000
GGG | | —
\ [m—— . L
| —_— o LK /]\E
/ BH s .1 Vg
B 18/hA o —
7 %ﬂﬁéﬂw
L/ﬁﬁ&i///L’///’/JﬁﬁtgktGD7
635000 o3
- BESFR L=12.4(15. &)m
JAYINY <y
_ FH*ED
630. 000 AEFRr L=12.0(15.0)m
| | ///////////
625. 000 _—
1: 250 |
DL=620. 000
: 3
_1/12.3 3
B Z L//é%jg//q 3
: 3
2 =2
7))
= 8 ] 3 S & .
N Lo o ) g 3 e
HEE 5 < = . : : :
© © © o X S g
= < s % + - .
= s s s ~ = o
iﬂﬁ% © © © © © © %
S g 8 8 S = =
2 2 S S S S g
BN EEEE o ~ = w > I o
S S S S . . -
S S 8 8 8 = 3
-
AlRES - - - E - . g
= 55 - - -
77} 77} 7] %) e 2 2

E

#H

IEES | 11525

ANIKEERBLIS

TH& @A AR

ME4 ®
ERERB TR 30 FE 9 A

R = REES 1.4
TEEF ERHEAAAR (E.LEH
ERES £ || Hh




DL=625. 000

DL=625. 000

DL=625. 000

DL=625. 000

A& R

D=1. 300

SECT. 0

GH=628. 58
FH=

i
T
\

i

(9p]
< o
o
XKE o
C(SE)=2.0 —
E(SE)=4.3
Fu(C)=1.7
K(SEifl'g 3.0 C(SE)=3.7 C(BL)=4.6
123 E(SE)=4.3
=Z. Fu()=2.0
K(SE)=1.0
D=6. 700
_SECT.4
GH=628. 60
FH=
1
d
|
SL=5. 6
< -
S\ o
IKE o
C(SE)=3.0 =
E (SE)=4.2 C(SE)=5.3 C(BL)=4.0
K(SE)=1.0 Fu(®=20
Sé;g.g K(SE)=1.0
: D=4. 000
SECT. 11
1
GH=627.09 =
Fh= ®
SL=5. 1 ‘ |
G=2. 8
DHWL |
- |
©
Q"? ™ ©
- R — A N
N |
KEE A// // fi
G(SE)=2.6
E(SE)=4.2 C(SE)=4.9
Fu(C)=1.7 3.5 E(SE)=4.2
K(SE)=1.0 Fu()=2.0
SL=2.3 K(SE)=1.0
G=1.8
D=
SECT. 15
GH=628. 65
FH=
5
F
sL=4.8 | |
6=2. 6 |

3.3

4.3

1.0

C(SE)=8.0
E(SE)=4.1
Fu(C)=2.0
K(SE)=1.0

S =1:

100

DL=625. 000
KE
C(SE)=4.0
E(SE)=3.8
Fu(C)=1.6
K(SE)=1.0

SL=2.4
G=1.6
DL=625. 000

K&

C(SE)=2.4
E(SE)=3.9
Fu(C)=1.6
K(SE)=1.0
SL=2.2
G=1.7
DL=625. 000

BE FRr
D=5. 000
SECT. 37
GH=630. 00
FH=
1
=
st=4.3 | |
- |
G=2.3 l-t@ |
7 A
< | | o
S 2 -
- <
/]
. | /
' C(SE)=4.7 B1-1=0.0
E(SE)=3.8
FulC)=1.7
K(SE)=1.0
D=7. 400
SECT. 45
GH=629. 44
FH=
i)
H
sL=4.2 |
G=2. 2 |
DHWL - S
| Y e
<L LWL — <y N o
o}%\ ™
// e
L= / C(SE)=5.0 B1-1=0. 1
31 E(SE)=3.8
FulC)=1.7
K(SE)=1.0
D=
SECT. 52. 4
GH=632. 18
FH=
1
F
SL=4.6
G=2.5 \
DHWL o &
| &30
- | oq*******“‘7% ES e 8
S o3 =
! wwe Y/ = ‘ ;#ﬁﬁl =
/ _ IESE | 11528
[S ANKERETSE
E'/_/ T2 L@ AR
3.2 C(SE)=5.4 B1-1=0.3 HE4 B i ®
E(SE)=3.9
Fu(C)=1.7 “mEAR TR 30 £ 9 A
K(SE)=1.0
R B 5 RHEES 2.4
TEER EETERAIAR (ELEH)
BEEs £ [| Hh




ABERT  L=11.8014.2)
0.71.1 1.30.4 6.7 4.0
- ~ = 1o
2 = z z
(Jp] (7s]
— <
\\@ Lﬁ) ﬁ-
T %) 7!
o o ™ % |
; ; Lo “ \ [
L - |
2=/NA1ET
12/hOukET
0.3 1.5 | 1.7 6.7 3.7
14.2
J0Ov o ERE
$=1/100
1.3
© o
< <
E=r -2
avol)—+k
o ck=18N/mm2 15&EHET EDR
i ] Al 3] & HiI =
avs)— k| 18N/mm2 m3 2. 346
- BB MEHEEM  m2 | 565
5 HiEpE | RC-40,t=100 | m2 9.71
S
100 771
HBRR 971
(RC-40)
2ERBET
$=1:20
w/
avsy—F 100
o ck=18N/mm2 ‘%‘/
2EEBET IEL
- AT oM Ef W B
= a5 Y—Fk lock=18N/mm2 | m3 2.213
- S| Bl m2 5. 21
S J/////E%%% ] HERA t=100mm | m2 9.96
 HBRE
(RC-40) 100 796 0
996

B H B
S=1/100
A @
(/O LEFTE)
BARR
FEE ¢ 350mm

SECT. 37

SL=4.3

e =
BE&i BT L=12. 4 (14,
1.4 2.0

0.70.7 0

SECT. 45

\ SECT. 52. 4

14.6

9D T

S=1:50

fRAa 1) —+k

o ck=18N/mm2

TERER
S=1:100
‘ 4000
500 3000

B+=2. 3m3/m

35/PMALET

a9 Y—Fk

aVvo)—kJavoE

S=1:50

AR

aVvoy—krJavoE

o ck=18N/mm2

$=1:50
B&i AT

2EFHT 750 300

avo)y—rJavsiE
hEavo Y —

1000

R

By

10mzy v

=1

o ck=18N/mm2

m3

0.375

— %

m2

1.00

aVvoY—F

o ck=18N/mm2

10mZHzY

RO

L

52

a2y 1)—Fk | ock=18N/mm2

m3

0.375

— % m3

1.00

IEEE | 1528

HE % &
ERERR TR 30 &£ 9 A

®R = HEES 3.4
TEE ERTEREAR (E.LE
BEES £ =] Hh




5850

1=5/haOET

$=1:50
1174
300 839
©
N
S <+
2 3
Lo
. |
Lo
15/hO1LT ERIER.
5 | R O® B M =
av41)—k | ock=18N/mm2 | m3 2. 47
BB — g m2 16. 46
BB e m2 1.94

4850

25 /NOIET

S=1:50
1174
300 839
©
N
S <
g 38
2
8
Lo
25/hOuET IERIER,
g Al BO% B H 2
a4 1)—k | ock=18N/mm2 | m3 1.96
i) i — A% m2 13.09
i 2 [ m2 1. 61

4500

3&/hOIET

S=1:50

300 808
ol
®
S <
of) —
R
e L
3
1492
3&/hOLET NEGIER)
i Al 52 B OB #® =
a4 1)—k | ock=18N/mm2 | m3 1. 91
it 2 — & m2 12. 7
it P et m2 1.54

IEES F1152%

ANKEERIBTE

THE BEAN A

HES B A
ERERR R 30 FE9 A

#R = REES 44
THERH ERTEMAAR (HLEH)
FEEE £ =] Hh




. 575.95

TSI KT //
TR

= ST RISIIRRAKD ,,'
= o L R R IR
“—alls1z ’i’:’:‘:’:‘:’:’:‘:ﬁd\\%2020!020!.?.?.?.9&:&.0;l/_[i__
, 578.70 oy R 0o et s atavatanas. P
a —
°// T
. 578.60
. 578.76 o
2 .
~ . 579.05 - o
5105 -~ , 579.34 o 579.89 a
il 200 = ) o

E) Z7R: 24
s e OTEVETE

A |y
, 580. 94 f Iﬂ? 5‘(
o 580. 91 . 581.08 A Y

xiﬂ]io)\-s/ A - 581.06
: ﬂf A .581.53
2T |- #e) T
2

] BE&
ABEFT =12, 00m L=4. 50m

580. 000 i—

575. 000

: 100

1:250 _—

DL=570. 000

A 2 13— - sy

gj %\_:AB .Om \\'::
Lo [fe)

- - o © o 5
S 2 3 2 2 5 F
ETIE S © © © s £ = E
[fe) [Kp) o [Kp) [Kp) [fe)
= '~ 3 2 2 2 *ﬁ
Hh g = 5 S S 5 505
TEES | B1152
C; o o o ; o
8 8 8 g 8 8 AN EEETE
'E =y IS o SN w < o IE4 ! i
1B /0 20 B o L 2 ] EEAN A
o o o o o o ME4 EE
i S S S S 2 S
X Fel B A S s ~ = oA KRERE TR 30 & 8 A
Lo =) ) —_— v =
‘ ) } o S e o "R e HEES 1.3
;ﬁllll\\ S 5 S 5 5 S
2 2 2 2 3 3 TEEHR EETERAAE (BEEH)
BRES £ [R if]




1

S=1/100
A& Fir BE AT
D=5. 000 D=2. 500
SECT. 0 SECT. 15. 5
GH=578. 96 GH=579. 14
FH= FH=
i)
E
sL=3.9 |
o 20
_ _ DHWL .
o ‘ \/0
Kt o e
DL=576. 00 N3 = - DL=576. 00
_ — /
C(SE):Z 1 ; 2.6 K&
E(SE)=3.4 f - SL=2.0
s o 4.7 C(SE)=3.7  BI-1=0.2 6=1.3
E(SE)=2.5 C(SE)=2.2
C(SE)=3.9 B1-1=0.0 Fu()=1.1 E(SE)=2.5
E(SE)=3. 4 K (SE)=0. 7 Fu(C)=1.1
Fu)=1.7 K(SE)=0.7
K(SE)=0.7
D=7. 000 D=2. 000
Al
SECT. 5 SECT. 18 s T 1
GH=578. 23 6H=577. 70 CaDl_ N G
FH= Fh= EGE)| BB (EL)
Fum| 8 &
KGSE)|  HEBE
1 | ETREE W<2. 5m)
n 2 " (2. 5m=W<4. Om)
3 no (4.0m=W)
SL=4.0 i;%t A | BT R HE W22 4. Om)
z G=2.0 | S Bl (H1z4.0m
SL=4.0 o ﬁ ‘ C| #  (1.0m=Wi<4. 0m
u | o D| »  (W<1.0m
|
. DHWL . |
© o *%* R im.iLfW.Li - °
e s AN _
SL=2.3 — - o |
DL=576. 00 G=1.5 < DL=576. 00 ‘
C(SE)=2.8 - /
E(SE)=3.4 : /
Fu(C)=1.6 4.1 SL=1.9
K(SE)=0. 7 ) . C(SE)=1.5  B1-1=3.3 6=1.3
ce=s.s BIHE0 E(SE)=2.5 C(SE)=1.5
( ): : Fu(C)=1.1 ESE)=2.5
Fu(C)=1.6 K(SE)=0.7 Fu(C)=1.1
K(SE)=0.7 K(SE)=0.7
SECT. 12 SECT. 20
GH=578. 99 GH=579. 94
FH= FH=
E
- 1%
cH H
G= ; IEEES | H11538
| | I ERIETE
K — o 2 g_& TEE LEAN KA
. N
Slé;zg < - g — z o 2# Sléj; H&E% ®
Eggzéj ol ™ ml EE?E;:;; R ER B T 30 & 8 A
=0. R _ (=) =/.
R K(s>-0. 7 : coe=s. e R csD=38  Bl-l-00 | ((sD)=0.7 wr T | FmRR]
| E(SE)23. ; E(SE)=2. 5 | 2.6 | TEEF ERHEAITAR (ERTH)
Fu(C)=1.6 Fu(C)=1.2
K (SE)=0. 7 K(SE)=0. 7 Bass E KR ™




SECT. 20
SECT. 18

SECT. 15.5

N

oo —kTJoy O
= = =
v b o
%) 75 %)
| |
) I BN
1=/POIET 3=/NOIET
.3 3.9 0.3
1=5/h0OWET
S=1:50
894 Qun L
., _
335 559 o ck=18N,/mm2 300
S
— | ||
-,
~ .
O o
A )
Y S
g o o
1331 IR
1231
[
q‘ | I—
1151
18/00O1LT ERED)
i | B8 HEE #H =
av#s1)y—k | ock=18N/mm2 | m3 1.25
BB — % m2 8.35
BB = m2 1.31
15 X im L
S=1:20
avyl)—+
o ck=18N/mm2
/
Z
e
15XiFET EL
i B O® By % 2
a9 )—Fk| ock=18N/mm2 | m3 0.25
iU - —fi% m2 1.00

S=1/100

aVvoyy—krJAavoE
$=1:50
15XiHL
A& AT 12.0
7.0 5.0
o~
= o
& > S
7] =
O
— 2
-
© [ ] "
T » RO STt Pt
] \ o BB E0.81t/m2 L
A ATy —k Ty oy > REO.8Tt/m2 K
R 7 )i
it N —— 7
\
-
2=/ NOIET - B
(E=d\=ll5 Rk
0.3 11.4 0.3
********* 1SE BT
25/NO1ET 3&/hO1ET
$=1:50 $=1:50
894 D h— ﬁggm avy)—+k
/ - > —
339 559 o ck=18N/mm2 300 339 559 o ck=18N/mm2 300
3 3
- .
_ o s %
.? ‘?
© o
28 55 8
- 1351 ~
1391 1251
129
S
ﬁ- | I
[
q- | I
1171
1211
22 NOUET 1S Y - 2
] Al 537} ¥ B4 = i ] Al 3] B4 =
av#s1)—k | ock=18N/mm2  m3 1. 49 avsH1)—k | ock=18N/mm2 | m3 1.33
B _) m2 9.91 B — 8 m2 8. 86
i il 1 #E m2 1.51 i il e $E m2 1.38
1 EE#ET
$=1:20
avol—Fk
o ck=18N/mm2
2B
g’ ™ L%gﬁﬁ L EDR
— 1 ] Al 7] 1% B % =
@4 i S
ot e = avsH)—k|  18N/mm2 m3 1.414
J oA INBUIEEY)
00 547 0(\ iﬁnﬁn; RC—40 t:oo :2 L7l 31(758
747 HEBRE aalad : :

(RC-40)

&30
E S * <<
x
H =
e |
IEES | £11535
ANIKEEIEIS
T
w2 LB RN
&4 % &t
EmERB TrE 30 £ 8 A
wR R HEES 3.3
TEERT ERTHEBEKE (BERE)
FRES £ [R il




